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0| &FH I & ol &b
25,200,000 24,500,000
9,600,163 9,600,163
2,760,748 2,760,748
2,760,448 2,760,448
1,336,595 1,336,595
931,082 931,082
186,339 186,339
306,432 306,432
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300 300
6,839,415 6,839,415
81,000 81,000
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15,599,837 14,899,837
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170 A=z 14,095,500 13,655,500 440,000
173 Bt HAEE A=+ 13,595,500 13,155,500 440,000
173-01 EEV A= Eag ) 8,364,000 8,364,000 0
173-02 Etsl HAHAEE XS+ 5,231,500 4,791,500 440,000

175 SANRE S 500,000 500,000 0
175-09 IJEtSAMNEEZ L 500,000 500,000 0

180 2E2X2 1,504,337 1,244,337 260,000
181 THAHLAHS 1,479,337 1,219,337 260,000
181-01 THAHLAHS 1,479,337 1,219,337 260,000

182 == 25,000 25,000 0
182-01 gdH01=2 25,000 25,000 0




